7,3750

i [m]

34,00

L [m]

7,3750

i [m]

34,00

L [m]

7,3750

i [m]

34,00

L [m]

7,3750

i [m]

34,00

L [m]

7,3750

i [m]

34,00

L [m]

7,3750

i [m]

34,00

L [m]

7,3750

i [m]

34,00

L [m]

3,6875

i [m]

34,00

L [m]

7,3750

i [m]

34,00

L [m]

7,3750

i [m]

33,00

L [m]

7,3750

i [m]

33,00

L [m]

7,3750

i [m]

33,00

L [m]

7,3750

i [m]

25,00

L [m]

Palo in c.a. trivellato @ 1500

Descrizione elemento

26,70 - Concio D

21,90 - Concio C1 [ 21,90 - Concio C2 i 21,90 - Concio C3 e 21,90 - Concio C4 [ 21,90 - Concio C5 | 21,90 - Concio C6 e 21,90 - Concio C7 i 21,90 - Concio C8 . 21,90 - Concio C9 i 21,90 - Concio C10 = 21,90 - Concio C11 )l

20,90 - Concio B

165,90 - Sezione tipo 3

44,20 - Sezione tipo 2

80,40 - Sezione tipo 1

Asse giunto tra concio Tipo Ae B
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